
         3. SINIF PROBLEM KİTAPÇIĞI 2

                 CEVAP ANAHTARI

Cevap001=613;   Cevap002=651;   Cevap003=204;   Cevap004= 57;   Cevap005= 22;   

Cevap006=340;   Cevap007=510;   Cevap008=389;   Cevap009= 95;   Cevap010=994;   

Cevap011=601;   Cevap012=600;   Cevap013=194;   Cevap014=280;   Cevap015=320;   

Cevap016=  1;   Cevap017=  5;   Cevap018= 67;   Cevap019= 48;   Cevap020=308;   

Cevap021=  5;   Cevap022= 85;   Cevap023=767;   Cevap024= 40;   Cevap025= 72;   

Cevap026=240;   Cevap027= 45;   Cevap028= 21;   Cevap029=610;   Cevap030=395


